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QUESTION 1

Which statement describes proper packet processing of layer 3 traffic in an NSX for vSphere topology? 

A. All packets are processed by the distributed router. No packets are processed by the Logical Router Control VM. 

B. Only packets requiring routing to another VM on the same host are processed by the distributed router. Other
packets are processed by the Logical Router Control VM. 

C. Only packets requiring routing to another VM on a different host are processed by the distributed router. Other
packets are processed by the Logical Router Control VM. 

D. All packets requiring routing are processed by performing a lookup in the Logical Router Control VM and then
forwarded. 

Correct Answer: A 

 

QUESTION 2

Which NSX component can validate that security policies at your organization are being enforced correctly? 

A. Activity Monitoring 

B. Flow Monitoring 

C. ERSPAN 

D. Distributed firewalls 

Correct Answer: A 

 

QUESTION 3

What is the packet size of the VXLAN standard test packet when using the Ping test on the logical switches? 

A. 1500 

B. 1550 

C. 1575 

D. 1600 

Correct Answer: B 

 

QUESTION 4

After consulting with the network team, it is decided that Transport Zones will be configured with Unicast Replication
Mode for a new NSX for vSphere deployment. 
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Which statement is true regarding the function of the VXLAN Tunnel End Points (VTEPs)? 

A. The VTEPs will send unicast frames to the NSX Controllers when the VTEPs do not have a MAC address in the MAC
table. 

B. The VTEPs will switch to Multicast Replication Mode for those VTEPs to which multicast path discovery is
successful. 

C. The VTEPs will send multicast frames to all other VTEPs in the Transport Zone when the VTEPs do not have a MAC
address in the MAC table. 

D. The VTEPs will send unicast frames to all local VTEPs and remote proxies in the Transport Zone when the VTEPs
do not have a MAC address in the MAC table. 

Correct Answer: D 

 

QUESTION 5

Which two statements are valid regarding vCloud Networking and Security (vCNS) and NSX? (Choose two.) 

A. Both vCNS and NSX support multiple hypervisor environments. 

B. NSX provides support for multiple hypervisor environments, vCNS does not. 

C. Both vCNS and NSX support dynamic routing protocols. 

D. NSX supports dynamic routing protocols, vCNS does not. 

Correct Answer: BD 
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